P32

(£1~5) |

gﬁ@% = <plain-style-nonpast-affirmative> of %tg&)i@h g2 = narrow, make narrow, limit, restrict /
%é < 9 % = <plain-style-nonpast-affirmative> of %aé < U&7 g3 =make ~ narrow /

ZH%ZH =in the first place, from the beginning /

H & H & = by nature, naturally, from the start, from the beginning, originally /

x“(Kx

FFALE ? person's strong point and weak point /

t W 3 & < W
BRAEE = person's strong point and weak point /
MHASW
JC3K = originally, in a natural manner, naturally, primarily, essentially, logically, rationally /
Fo—
#1& H5 = from beginning /
fTWES M

1IE%4{t 9 % = <plain-style-nonpast-affirmative> of IEéﬂﬁ U £ 9 g3 = |justify, legitimize,

legitimatize /

Z Z Tl&. =in this article /

ﬁaﬁ E > T LWgH o fc = was not wrong = <plain-style-past-negative> of ﬁzﬁ D’C WX =be
wrong, be making a mistake now

* %Bi%b\i’é’ g1 = make an error, mistake, be wrong

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

;i <quotation particle> /

B>, = <plain-style-nonpast-affirmative> of ,ub\i"é“ g1 = think /
— In this article, you think that it was not wrong.

{The sentence is written in the plain-style.}

bl

Fo/

|& <topic particle> /

fﬁ’\% [C DWW = about (regarding, concerning) food N2 No.10/

9?%#%\,\ = likes and dislikes /

57\,\ = <plain-style-nonpast-affirmative> of yL\T@“ (X) is many /

H. =but, /

gﬁi”%%—?\b ‘7\”%%0{%6:9\/\’(01 = about a study theme, human relations, etc N2 No.10 /
% FE D = (not) so, (not) much, (not) really /

??‘éfiﬁ?\,\ = likes and dislikes /

¥ <subject particle> = A wa B ga [adjective]

7%\, =there is not ~, don’t have ~ = <plain-style-nonpast-negative> of &6 D £ 3 g1 (there is
~, have ~, exist) //
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Regarding food, | have many likes and dislikes, but | don’t have many likes and dislikes about
study themes and human relations.

& 2 3hH =But, However, /

WaW3 & %c‘: = with various people /

%%’: LT W5 = <plain-style-nonpast-affirmative> of g%% LT WX =be talking now, be
speaking now

&. =and naturally ....., and consequently .... /

,Lj’;il IC = unexpectedly, surprlsmgly/

9?%11%,\ NHsd END A = the people who have likes and dislikes

* 3 % = <plain-style-nonpast-affirmative> of ¢ D &9 g1 = there is ~, have ~, exist

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
75\ <subject particle> /

yb\o = <plain-style-nonpast-affirmative> of \A’C@“ (X) is many //

However, when | talk with various people, | found that there were many people who had likes
and dislikes unexpectedly.

FAEwS

Z DA = this study (research) /

\d <topic particle> ]

iﬁb\ = <plain-style-nonpast-affirmative> of %L\T“@“ = dislike, hate /

& h = such as, like, as an example of, like for example /

Z @U)\t = this person /

|& <topic particle> /

;{?g U w7\ = don't like = <plain-style-nonpast-negative> of ﬁ?’a‘ T9 (like)/
& h = such as, like, as an example of, like for example /

& < =often/

oz Loz

K 9 % = <plain-style-nonpast-affirmative> of BIC U E 9 g3 = hear, perceive by the ear,
perceive by listening //

| often hear the things such as ‘| don’t like this study (research)’, ‘| don’t like this person’, etc.

UM UL. =But,/
TAZEDS

E AR THEICH =in any study (research) , in no matter what kind of study (research) it is /
LTh

2 /= = visual point, point of view, viewpoint
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% <direct-object particle> /
n m
Z Z g =if (X) change = conditional-form of ZX %9 g2 = change /
EXA
23R & Z 3 =the point which (X) learn
g e
* 22,3 = <plain-style-nonpast-affirmative> of 2} &£ 9 g1 = learn, study (in depth), take lessons
in/
|& <topic particle> /
hRS
W9 = necessarily, certainly, without fail, positively, invariably /
3 % = <plain-style-nonpast-affirmative> of 3 D &9 g1 =there is ~, have ~, exist /
U. =]plain-style] L. =~ and what’s more, not only ~ but also ..., because ~ <lt is often
used to list reasons.>
[ChIFh
A& = human being /
H=also/
ES5&5
[EEk(IC = identically, in the same way, similarly, same /
b3 HA . Hh b3 Hh R
BUVWEH B HNIE WWE b $HD, = <plain-style-nonpast-affirmative> of FWNE 6 H LI LyL)

HA
H ® » D FTJ =there are both a bad point and a good point. N2 No.48 //

But there is the point which we can learn from any study without fail if you change your
viewpoint, and what’s more a human being, in the same way, also has both a bad point and a
good point.

P>T=%%, £LT. =doand....

* > % = <plain-style-nonpast-affirmative> of D &9 =1do 2 (superior) give (inferior)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

%7& 9 % = <plain-style-nonpast-affirmative> of %% L £9 g3 = lose, become less effective or
valuable, suffer a loss

* % = loss, act or instance of losing, disadvantage

EWS %ﬁ% = the study which is ~

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
|& <topic particle> /

EE%GC = very, extremely, exceedingly /

F N TS = <plain-style-nonpast-affirmative> of £11 Td D F£9 which is more formal than
EFN TI = (X)is rare (uncommon, unusual) /

L. =[plain-style] L. =~ and what’s more, not only ~ but also ..., because ~ <lt is often

used to list reasons.>/
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DEH>TC=D2FHD, LT, =associate with and ...... , keep company with and ....., get on

with and ......
* DEH D = <plain-style-nonpast-affirmative> of D Z &% LVEX 9 g1 = associate with, keep

company with, get on with
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

|t |s sometimes used to show reason as well. /

ia’é’: 9 % = <plain-style-nonpast-affirmative> of 1 752 L £9 g3 = lose, become less effective or
valuable, suffer a loss

* % = loss, act or instance of losing, disadvantage

EWS x% = the human being who ~

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
H =also/

OL&>

FEE I = very, extremely, exceedingly /
ERS F<
DIR N, = <plain-style-nonpast-affirmative> of /& WL\ T = (X) is a few (a little) //

The study which you do and then suffer a loss is very rare, and what’s more the human being
whom you associate with and then suffer a loss is also very few.

NH < Lep

JEE BiiETHD 5. =i (X) is a scientist, a technician (engineer), etc

* T 5 = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D F 9 which is more
formal than ‘[na-adjective / noun] T9 =is (are, am, etc)

* 785 = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 7% 5 = if ~

<supposition> <lt is followed by an expression that conveys the speaker’s judgement or a
question asking for the Ilstener s opinion.> /

F>3A N D S HEWN

REBIC DN B Ho5rwd E _Jﬁ % = every possibility which leads to a discovery

* DIEHY B = <plain-style-nonpast-affirmative> of D7&H'D £ g1 = be tied together; be

connected, be related to /
|C <recipient particle> /

7> 7T 7 =antenna/

%Z <direct-object particle> /

fe at“‘é" NRET, = flFT K=, Z0LT. =should stretch and ..

* 1EF|L?.*©“ NZE 12 = <plain-style-nonpast- afflrmatlve> of TEF' I[¥9 RNZTT =should stretch

* 1EF'LE@“ <plain-style-nonpast-affirmative> of 1EF' XL £9 g1 = lengthen, make longer; stretch,

reach out, draw out to the full length; postpone, prolong, extend, grow
* [dictionary-form] XE T9 = should do ~ N2 No.105

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them
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te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. * In addition to ‘[stem of i-adjective] < T,

‘[stem of i-adjective] < ’is also used to be more formal. /

Z®D fcdITlE. =in order to do so

* [plaln style] 72 (IC) = 1 because ~ 2 in order to do ~ /

i@%ﬂﬁb\ = likes and dislikes /

Y <subject particle>

3 > Tl& WIF7R\LY = <plain-style-nonpast-affirmative> of 3 - Tld L\ 7 E & A = must not have,

must
* %D £ g1 =there is ~, have ~, exist

* [te- form] WIF F A = must not do ~, may not do ~ /
£DIC ,u')o = <plain-style-nonpast-affirmative> of ‘[plain- style (but, ‘da’ of ‘[na-adjective] da’
and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)] & 3 I ,ub\iﬁ“ = it seems that ~ //

If you are a scientist or a technician (engineer) , you should stretch the antenna to every
possibility which leads to a discovery, and it seems that you must not have likes and dislikes in
order to do so.

FhEn> @i
MED fllﬁ = the breadth (width, thickness) of study /
Y= ., etc/

tatat'f/u D SEN

%E c ’37375\5 A]BEME = the possibility which leads to a discovery
* DIRH B = <plain-style-nonpast-affirmative> of D7&H'D £ g1 = be tied together; be

connected, be related to /
%Z <direct-object particle> /

3;3 < = drastically, greatly / ‘

WHT LES, = <plain-style-nonpast-affirmative> of WHT LEVET =to one’s regret, (X)
narrow

* %é&b 9 g2 = narrow, make narrow

* [te-form] UL EWLWE 9 =1 to one’s regret, he does ~ 2 finish doing ~ completely /

It (The fact that you have likes and dislikes) narrows the breadth of study and the possibility
which leads to a discovery drastically.

& Z 37T, =By the way, /

%% %% =in the first place /

El =5 El =5

IFEFW SF = FEHD & WD D + [E <topic particle> = the thing called ‘likes and dislikes’
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*(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

%TC“ 55 =whatis (X)? = [plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] 7=
5 S his used to ask oneself a question.  * Actually 725 5 is the plain-style of TU & 5 which

means ‘1 Probably ....... b2 e , right? //

By the way, what is ‘likes and dislikes’ in the first place?

L&A TAZER SR AP
BO D 3% 2% = the field (area, sphere, realm, division, branch) of one’s own study /

|[& <topic particle> /

fé%?‘&% Z & =the fact that (X) is science (system of knowledge gained by systematic
research and organized into general laws) /

(T (& I%E%L\ 7&2\L\, = <plain-style> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be

F 5 H
omitted.)] I (IF) A& W & D £ A =itis certain that ~ N2 No.104 (similar expression) //

It is certain that the field of my own study is science.

LML =But/

U3 A

H5TH. =even oneself/
Hhrw >

2 =reason /

HY <subject particle> /

HoT=H>ofe #LT. =therewas ~ and ....., had ~ and .....

* 8 > fc =there was ~, had ~ = <plain-style-past-affirmative> of & D ¥9 g1 (there is ~,
have ~, exist)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

IDEH%CDE = the road of science /

% <direct-object particle> / -

AT = chose = <plain-style-past-affirmative> of lors g1 (choose, select) /

& <quotation particle> /

L;t <topic particle> /

%\2_7& Wo = cannot think = <plain-style-nonpast-negative> of %\2_%@“ (can think, be able to
think) which is the potential-verb of %L\i"@i (think) /

But, | myself cannot think that | chose the road of science because | had a reason.
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<SEA

ﬁ@% 1%““0) ﬁﬂi*& D ‘fu% R D 2, = <plain-style-nonpast-affirmative> of EE% BARD
%6’%%1’& D ,‘ﬁi% % D TY =itis the result of accumulation of fortuities (accidental
occurrences) It is just like that.

* EE% mere, only, just

* f%?m = by chance, unexpectedly, in an unexpected manner, in an unpredictable manner

* {E(B%E P = accumulation

* D12 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] ® TI=...... , l wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... ) |
want to emphasize ; ....., | really want to say so ; because ...... — (D can be changed to A. //

It is the result of accumulation of fortuities (accidental occurrences). It is just like that.

B R

EAD FH P BEREET SEA T2, = chose it because of one’s own liking, strong point,
weak point, etc
* 1@5’% = liking, preference, taste, choice ‘
* EEAJ?Z = chose = <plain-style-past-affirmative> of 3 2()*‘&@“ g1 (choose, select) /
& <quotation particle> /
373& N5 =later
=2 D =to say, saying

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /

|& <topic particle> /

%@fé%@@ M;R = the choice of that fortuity (accidental occurrence) /

IC <recipient particle> /

%5 H = something, some object, unspecified object /

D <possession particle>/

fﬁEEl =reason /

%Z <direct-object particle> /

27..73 L\ = don’t give = <plain-style-nonpast-negative> of 51&@“ g2 (give, present, award) /
& =and naturally ...., and consequently ..... /

% & T =later/

’Iéﬁf-’{} Z & T 73 %= <plain-style-nonpast-affirmative> of 'I’;E\’J{} ZEICED XTI =it will be
decided that (X) regret

* ‘T’%’@B = <plain-style-nonpast-affirmative> of ‘I%’Pcﬁi@' g1 = regret, repent, mourn, grieve,

be in mourning, feel sorrow for someone's death
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* [dictionary-form / nai-form] Z & [ 7& D 9 =it has been decided that ~, it will be decided
that ~ /

H 5 12 = <plain-style-nonpast-affirmative> of ‘[plain-style] 55 T’ = because ~ /

& <quotation particle> /

%\5 o = <plain-style-nonpast-affirmative> of U\Ai@“ g1 = think //

The reason why they say that ‘I chose this because of my liking or my strong point and weak
point’ later is because if they don’t give some reason to the choice of that fortuity, they will reach
the point where they regret later. | think so.

fe& X3, =For example, /
PRZAY) #HE

EXR D8 = the road of science /
%i <direct- object particle> /
/U‘C 1&/3\0 % L. =choose and .. -
“ 5 = <plain-style-nonpast-affirmative> of EUET g1 = choose, select /

T Wwh

i\o T K578 R =the results as (X) thought

* ii': fc = thought = <plain-style-past-affirmative> of ,b\b\i? g1 (think) /

%Z <direct-object particle> /

J@:b“"_% N7xH > fz = couldn’t raise = <plain-style-past-negative> of Jﬁ:b”"_%hi"é‘ which is the
potential-verb (can raise, be able to raise) or the passive-verb (be raised) of Jﬁ:b“‘i@“ g2 (raise,

elevate) /
& &, =|[plain-style (but, ‘da’ of {na-adjective] da’ and ‘{noun] da’ becomes ‘na’ and ‘no’
respectively.)] & & = when (X) do (did, is doing, was doing, etc) ~ /

M3t = why /

VAN 5}5
X D& = the road of humanities
Bl
* 3% = humanities, branches of study concerned with human thought and culture; classical

languages and literature (i.e. Roman and Greek) /
% <direct-object particle>/

%Lzﬁ‘?ﬁ: M o 1o = didn’t choose = <plain-style-past-negative> of %U‘E@“ g1 (choose, select) /
@D = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] ® TI=...... , | wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... ) |
want to emphasize ; ....., | really want to say so ; because ...... — (D can be changed to A. /
HN 1 <question particle> //

& <quotation particle> /

ii') <plain-style-nonpast-affirmative> of ,L,\L\ij g1 = think

K D7 =(A) K57 (B) = (B) such as (A), (B) like (A), (B) which is similar to (A) /

Z5HW

&8 = regret, repentance, remorse about past events /
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Tdh S, = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D £ 9 which is more

formal than ‘[na-adjective / noun] T3 =is (are, am, etc) //

For example, it is the regret that when you chose the road of science and couldn’t achieve
success as you expected, you think that ‘why didn't | choose the road of humanities?’

t?a n Z
=W Fh% = the remote past

IC <arrival particle> /
EHhDEFE->T = IHhDIEFS, LT, =go upstream (go back, make retroactive) and .....
* IHDIX S = <plain-style-nonpast-affirmative> of EHDIFND F£9 g1 = go upstream, go back,

make retroactive
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
b\fs W5 =one by one singly, one at a time

Tf‘v:l’fEbTL\T = Tﬁl’fﬁbT Wiz 5 =if (X) regret B
;é% LT L/ = (X) was regretting = <plain-style-past-affirmative> of z j‘flw LT WZET (be
regretting now
* 12% L £ 9 g3 = regret, feel remorseful
* [plaln style past (_afflrmatlve or negative) 5 = if ~ <affirmative>, if ~ <negative> /
%UJH#,.“U) E D HGUD Fn%u%ﬁ = the problem which exists in front of your eyes at that point /
\C <recipient particle> /
B%b = power, force, strength, energy, might /
%Z <direct-object particle> /
zz 2% 2z
EFT = F TR T = EF RV, FUT. =cannot pour into and .....
/?i%b“‘fd L\ = cannot pour into = <plain-style- nonpast negative> of ,EH &9 (can pour into, be
able to pout into) which is the potential-verb of ,Eé? X9 g1 (pout into)
* [nai-form 7% \L\ — 73 < T] = [nai-form 7%\ — 9 (IZ)] = don’t do ~ and .... (used to join
sentences) # ULARWT =179 (I2), not LY (IC) / * [nai-form &L\ — R WT] = [nai-form 72 L
— 9 (IZ)] = without doing ~ # L7ZAWT =9 (IZ), not L (IT)
* %;& /%E% Z £ 9 = concentrate one's effort (on something) /
%ﬁ% & [T = positively
* %ﬁr’% & = positiveness; condition of facing the front, facing /
%% T W< Z &F TERL = cannot continue to live = <plain-style-nonpast-negative> of 4 =
T WL Z&ED TEZXT (can continue to live, be able to continue to live)
* %% T W< = <plain-style-nonpast-affirmative> of %%‘f T WE X9 =continue to live

* [te-form] L\E £ 9 = continue to do ~, keep doing ~, carry on doing ~
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* [dictionary-form] Z &hY TZ X9 =ca do ~, be able to do ~ //

If you go back to the remote past and regret every time, you cannot concentrate your effort on
the problem which exists in front of your eyes at that point and you cannot carry on living
positively.

<> =s0/ $

%ﬂ}‘_é = <plain-style-nonpast-affirmative> of %%i@h g2 = consider, think over /

& =and naturally ..., and consequently ...... /

ﬁ?éiﬁb\ r b@l‘%ﬁ E WS £ =the things called ‘likes and dislikes, emotions, etc’

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
id <topic particle> /

2

fﬁégj;d) %ﬁo”%%@ N T = by means of accumulating of fortuities (accidental occurrences)
ié/u’(“ W< 7\”&“ = the life which continues to advance

* i’é/u? L < = <plain-style-nonpast-affirmative> of E/u? L& F¥ 9 = continue to advance
* i&i@“ g1 = make progress, proceed, advance, improve, move forward

* [te-form] L & E 9 = continue to do ~, keep doing ~, carry on doing ~ /

% <direct-object particle> /

é&%?& D IC =in one's own way or style /

g@?%?‘% T8I = in order to consent ,

7o &<
* W48 9 % = <plain-style-nonpast-affirmative> of #175 U £ 9" g3 = accept, consent, agree;

understand, be convinced
* [plain-style] 726 (IC) = 1 because ~ 2 in order to do ~ /

3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 = there is ~, have ~, exist /

& 278 B D = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective] da’ and
‘[noun] da’ becomes ‘na’ and ‘no’ respectively)] & S 7& H D TI’ = (X) is the thing which looks
like ~ (according my academic analysis) /
& <quotation particle> /

%2_% = <plain-style-nonpast-affirmative> of %Zi@“ (can say, be able to say) which is the
potential-verb of %L\iﬁ' gl (say) /

* D TIE 120 DY, = <plain-style> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’ must be
omitted.)] D Tl& HHDFEA Ho =...... , don’t you think so, | wonder? ; ........ , | want to confirm
with you, | wonder?

If we think so, we can say that the things called ‘likes and dislikes, and emotions’ seem to exist

in order to accept the life which continues to advance by accumulating fortuities in your own
way, don’t think you so?
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ﬁ?%iﬁ?b\ * ﬁ’:%?b;l%j = likes and dislikes, emotions, etc /

|& <topic particle> /

L %'b.fk@ S B |C = unconsciously N2 No.20 /

Eﬁj\’& —r% 18I =in order to protect oneself

* ?FZD <plain-style-nonpast-affirmative> of —r N &9 g1 = protect, defend, guard, save from

harm, secure
* [plain style] 78 (IC) =1 because ~ 2 in order to do ~ /

Bo&

Qﬁ%’: RS éﬁ% f=8 (T = in order to convince oneself

* %ﬁu &% =<plain- style nonpast-affirmative> of %I’ﬂﬁé’@fi@' (convince, persuade) which is
the causative-verb of ‘fl’ﬂ1=_|= L £79 g3 (consent, accept, agree; understand)

* [plain-style] 7z (IC) = 1 because ~ 2 in order to do ~ /

%‘BC/%%: < = conveniently, comfortably

* éﬁdéb“ LYL\T Y = can make it, one’s circumstances are OK /

o> 50 = the thing which (X) hold

* T%’D = <plain-style-nonpast-affirmative> of ?%5 &9 g1 =hold, possess, carry /

R D D5, =<plain-style-nonpast-affirmative> of 7 @ TL & 5, =

[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TI =...... , l wonder ; ...... ) |

doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really want to say so ;
because ...... — @ can be changed to A.

+
[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] TU & 2 =1 Probably ....... :

2 o, , right? //

Probably ‘likes and dislikes, emotions, etc’ is the thing which we have conveniently in order to
protect ourselves or in order to convince ourselves unconsciously.

o

ML &S

BRIE P ﬁ?%#ﬁb\ = emotions, likes and dislikes, etc /

|& <topic particle> /
HABWN

TCK = originally, primarily, essentially, logically, naturally /
[CAITh Z7R

AR i 2T W3 D = the thing which is furnished with a human being

J% 5

* it o T L\ = <plain-style-nonpast-affirmative> of {&#4 > T L\E 9 = be being furnished

with now, be being endowed with now, be possessing now, be among, be one of, be being

possessed of
Z3

*fig3o D £9 g1 = be furnished with, be endowed with, possess, be among, be one of, be
possessed of
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* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
T % = <plain-style-nonpast-affirmative> of ‘{na-adjective / noun] Td D E 39’ which is more
formal than ‘[na-adjective / noun] T9 =is (are, am, etc) /

E WD D + (& <topic particle> = the fact that ~

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
5N

EE L) 73\ = <plain-style> of F'eﬁ L % D XA = | have no doubt that ~, it is certain that ~ /

lEhTh

A& = human being /

(& <topic particle>/
Uw>S3h

RRPANAN IEEEI?b\ 7\ F F = without having enough reasons

* [nai-form] & & = don’t do ~ and remains in that situation, without doing ~

* [ta-form] & F = with ~, while ~, as ~ <used to show that an already existing situation
remains unchanged>/

%L’E} Z5ES

7o E 5 @ 1T8) = one’s own action which he performed (did, conducted oneself, behaved ;

carried out)
B B
* 1T o fz = conducted = <plain-style-past-affirmative> of 1TUL\E 9 g1 (perform, do; conduct

oneself, behave; carry out) /
%Z <direct-object particle> /

o &l o &l &')22(

WEL., =MELT. =895, £LT. =consent and ..

Zo &L o &<
* #1789 % = <plain-style-nonpast-affirmative> of #1%§ L & 9" g3 = accept, consent, agree;

understand

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal /

TWES

IE-_—LMB@“% f= 8 I = in order to justify

gWnesS n gwnes n

* IEY1b 9 % = <plain-style-nonpast-affirmative> of 1IE241t U £ 9" g3 = justify
* [plain-style] 7= (IC) = 1 because ~ 2 in order to do ~ /

H. =also /

%’I%%’D ﬁ?%ﬂ%b\ = emotions, likes and dislikes, etc /

% <direct-object particle> /

Fﬁb\%o = <plain-style-nonpast-affirmative> of %Mi@“ sg2 = use, make use of, utilize /

| have no doubt that ‘emotions, likes and dislikes, etc’ is naturally attached to a human being (—

a human being is naturally endowed with ‘likes and dislikes, emotions, etc’), but a human being
uses ‘emotions, likes and dislikes, etc’ in order to content and justify his own action (behavior)
which he performed without enough reasons.

lEhFh

A& = human being /
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|& <topic particle> /
Fh ESZD AU &S D &S5E3FS

D BT 1 W F AR RRIEP ﬂi‘%ﬁ%b\ @ FIFEA % = the usage of ‘emotions, likes and

dislikes, etc’ like that which doesn’t exist inside other animals (the usage of ‘emotions, likes and
dislikes, etc’ like that which other animals don’t possess)
* &L\ = there is not ~, don’t have ~, don’t exist = <plain-style-past-affirmative> of % D £ 9 g1

=there is ~, have ~, exist/

%LC DT W3 = <plain-style-nonpast-affirmative> of %LC 27T WEXT =be acquiring now,
be learning now, be mastering now

* %6: DI E 9 g2 = acquire, learn, master, wear, be dressed in /

D b LN, =<plain-style>of O 6 LNFEEA =

[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TI =...... , l wonder ; ...... ) |

doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really want to say so ;
because ...... — @ can be changed to A.

+
[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 6 UL FEE A =may do

~, maybe do ~ //

Probably a human being learnt the usage of ‘emotions, likes and dislikes, etc’ like that which
other animals don’t possess. 8-

wL<s 3L

ax &

ARy k& & =AMy b EWS @ + [& <topic particle> = the thing called ‘robot’ /
R

fAIh™ = <plain-style> of Al TY H = what is (X)?

What is ‘robot’?

N

>2 VAN

)\(D %‘: BRI % = the mirror which reflects a human mind
* EIQW' = <plain-style-nonpast-affirmative> of H9& L &9 g1 = project, reflect, cast (shadow)

I5RALY

FEIRLLICT K B = published by Kou Dan Sha

P33

171

El =5
HEHE = likes and dislikes /
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Y <subject particle>
3 > Tl WIF7R LY = <plain-style-nonpast-affirmative> of 3 - T & L\ 7 A = must not have,

must

* %D XY g1 =there is ~, have ~, exist

* [te-form] (& W IF E A = must not do ~, may not do ~ /

& <quotation particle> /

%%73\ \%Z_—C L3 D = the fact that the author is con3|der|ng

* %Z.T L\ % = <plain-style-nonpast-affirmative> of %Z_’C L & 9 = be thinking now

* %%_i"é‘ g2 = consider, think over

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

RED. = <plain-style> of 7&ETI H = why is (X)?

Why does the author think that ‘we must not have likes and dislikes’?

BAZEw> FAZEwS

EABMMRTH>TH, = EARKR AT TH. =no matter what kind of study (X) is, any study

(research)
* Td > TH =te-form of [na-adjective / noun] Td D K3’ which is more formal than ‘[na-
adjective / noun] T79 (is, are, am, etc) + & /

‘\:—’< _7::_ HIcH Folh
&IC A2 L W FE R = the new discovery which is useful

W 4 fL'D <plain-style-nonpast-affirmative> of fx C _LE X9 g1 = be helpful, be useful /
LC /
DRIT 5N S = <plain-style-nonpast-affirmative> of D7x(F 5 1.E 9 which is the potential-verb
(can connect, be able to connect) or the passive-verb (be connected) of DX IFE I g2

(connect, join) /
M5 =because ~ //

because we can connect any study with a new discovery which is useful. 8-

E AR Z & TH =no matter what kind of thing (X) is, any thing /
U3 A ThEw>S
Qﬁj\o) fft3T = one’s own study (research)
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Y <subject particle> /

&b % = <plain-style-nonpast-affirmative> of 3% D £ 3 g1 = there is ~, have ~, exist /

ME LN = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {na-adjective /
noun] da’ must be omitted.)] ™% UL EE A =may do ~, maybe do ~

M5 = because ~ //

because there may exist the thing which is useful for your own study in anything.

ﬁ?éiﬁ?b\ T = by means likes and dislikes /

iﬁtﬁ@'é Z & & 2T =by means of judging N2 No.13

* iﬁlc}ﬁ?é <plain-style-nonpast-affirmative> of iﬁlfi‘ﬁ L &9 g3 =judge

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

%:L\ % = bad aspect /

i/

’%’D“%’E Ic < £ 783 = <plain-style-nonpast-affirmative> of ’;%’D“?—f Ic< < & D FI =become
unaware of

* ’%’)“% £ 9 g1 = notice, recognize, become aware of, perceive, realize

* [masu-form] I < L\ T = (X) is difficult (hard) to do ~

* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D £J = become [adjective]
* [noun] IC 7& D ¥ 9 =become [noun]/

M5 =because ~ //

because you will become unaware of a bad aspect by judging by likes and dislikes

—iﬁ%b\ 7% Z & =the thing which (X) dislike /

IC <existence particle> /

Li <top|c particle> /

E \75\ —L’D VR LY ﬁ%j = the important thing which (X) dont notice

* ’:VD M7\ = don’t notice = <plain-style-nonpast-negative> of —VD Z X9 g1 =notice,

recognize/, become aware of, perceive, realize /
HY <subject particle> /

Hh< m<
FEE 11T L3 = <plain-style-nonpast-affirmative> of &S 11T L X 9 = be being hidden now
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M < n<
*BEE N E T =be hidden = passive-verb of & U &3 g1 (hide, conceal, place out of sight,

cover up)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

M5 =because ~ //

because the important thing which | myself don’t notice is hidden in the thing which | dislike

OoULw

% & = author /

|& <topic particle> /

ES0LT=why/

fé% = science /

IC <arrival particle> /

%/1/ 2 = advanced, made progress, proceeded = <plain-style-past-affirmative> of i’%é’%i@“ o}

= advance, make progress, proceed
MDhH, = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’

becomes ‘na’.)] ® TI H =...... , | wonder? — @ can be changed to A. //

Why did the author choose science?

BRAFW

X% = humanities /

Y <subject particle> /

?%%%’C“Li &h > o = (X) was not good at ~ = <plain-style-past-negative> of Tt%%’(@“ ((X) is
good at ~) /

M5 =because ~

because he was not so good at humanities

L&A /%_ b
B2 ® 5¥F5 = one’s own feeling /
[c/
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0%\ (0=
i€ o = = obeyed, followed = <plain-style-past-affirmative> of /ELNE I~ g1 (conform, obey,

comply, follow, accompany) /
M5 = because ~ //

because he conformed to his own feeling %

&<
5T = especially, particularly /

=5 =5
W\ TlE 7ah o 7z = (X) didn’t hate = <plain-style-past-negative> of #\L\ T ((X) dislike (hate)

)/
M5 =because ~ //

because he didn't hate particularly.

fTc £1= X = unexpectedly; by chance, accidentally; casually /

Z> =s0/

% > fo = become = <plain-style-past-affirmative> of 72D £ 9 g1 (become)
M5 = because ~ //

because it became so by chance (by accident).

Vo UL»

%# = author /

\d <topic particle>/

ﬁ?%iﬁb\ sl = ﬁ?%gﬁb\ & WS D + [F <topic particle> = the thing called ‘likes and dislikes’
*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

c)/\u%ti & T = for human being, from the viewpoint of human beings N2 No.11/

ED LD HD = EAK HD =what kind of thing /

Z = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T9, ’=is (are, am, etc) /

& <quotation particle> /
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AN MAD
# Z T W3 = <plain-style-nonpast-affirmative> of & X T L\E 9 = be considering now, be
thinking now

MAD

* & Z £9 g2 = consider, think over /
HY <question particle> //

According to the author, what kind of thing is the thing called ‘likes and dislikes’ for a human
being?

—

5 R A

éﬁj\b“ hhs &3 %%DJ = the action which (X) is going to perform from now
* & % = <plain-style-nonpast-affirmative> of & D £¥3 g1 =take
% <direct -object particle> /
/9%67)%) H#@ = 5> DT = the chance (trigger) when (X) decide
9&675% <plain-style-nonpast-affirmative> of 9&6’) %9 g2 = decide

* [plain-style (but, ‘da’ of {{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
& & =when (X) do (did, is doing, was doing, etc) ~ /

i/

2% H D =the thing which become ~

* 1& % = <plain-style-nonpast-affirmative> of 72 D £9 g1 = become

* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D ¥9 = become [adjective]
* [noun] I 7& D ¥ 9 =become [noun] //

(it is) the thing which becomes a chance (trigger) when you decide the action which you are
going to perform in the future.

N

U3 A
B4 = oneself

7'J\ <subject particle>

UF] =2 42T W< fe8IT = in oder to continue to live positively
* E% T LW < = <plain-style-nonpast-affirmative> of E% T WEFX T =continue to live
EEFY sg2 = live
* [te-form] L& F 9 = continue to do ~, keep doing ~, carry on doing ~
* [plain-style] 7= (IC) = 1 because ~ 2 in order to do ~ /
%‘E@E’é IC = consciously /
FIFLT W3 60 = the thing which (X) is using now
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Hh &S5 P )
*FIIFB LT W3 = <plain-style-nonpast-affirmative> of /B8 LT LW& 9 = be using now
b &>

* A UL E 9 g3 = use, utilize, put to practical use; take advantage of
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

(it is) the thing which we use consciously in order to continue to live positively.

U &R A ThEw>S LceE

B2 D % £ = one’s own study and work /

¥ <subject particle> /

S F < W< K 3IT =so that (X) go well (smoothly)

* LW < = <plain-style-nonpast-affirmative> of WE E 39 g1 =go

* [plain-style-nonpast] & 5 IC = so that ~ /

é'thﬁx = usually, habitually, ordinarily/

Lat <topic particle> /

?fﬂ AT W3 H D =the which (X) is suppressing now (|s restraining now, is controlling now)
* TII]7CC L\% = <plain-style-nonpast-affirmative> of }ﬂ]z‘c WX J = be suppressing now

* Tfﬂxi? g2 = suppress, restrain, control //

(it is) the thing which we usually restrain so that our own studies and works go well.

Z5ES t-f/x,fL
E \0) 1TENA® 5EIR = one’s own action and choice /

h' <subject particle> / “

%Séo T WEH o fz = (X) was not wrong = <plain-style-past-negative> of ﬁaﬁgéo TWET =
(X) |s wrong

* ﬁzﬁ L\i@' g1 = make an error, mistake, make a mistake, be mistaken, be incorrect, be wrong

/
& <quotation particle> /
56

1\5 eI = in order to think

* iﬁ') = <plain-style-nonpast-affirmative> of ,b\\,\i@“ g1 =think
* [plain-style] 7z (IC) = 1 because ~ 2 in order to do ~ /
%L\é H D = the thing which (X) use

b5 b5
* FAL\ % = <plain-style-nonpast-affirmative> of FHL\E 9 sg2 = use, make use of, utilize //

(it is) the thing which we use in order to think that our own actions and choices were not wrong.
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